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AQA AS Business Studies

8 Marketing and the competitive environment

a Answers may include the following:

· This should result in high levels of returning customers, which is beneficial to the company since it charges relatively high prices.

· High levels of brand loyalty would allow the company to charge higher prices increasing its profit margin.

· This would be a major bonus to the company as it operates in a market in which demand is falling at an increasing rate.

	Level 3
	Good application 
	5–6 marks

	Level 2
	Good knowledge or limited knowledge plus reasonable application 
	4–3 marks

	Level 1
	Limited knowledge
	2–1 marks


b Answers may include the following:

· Selling in a niche market allows the company to charge relatively high prices, boosting its profit margin. This may help to improve the company’s long-term profitability, which is an objective of its managers.

· Operating in a niche market, and especially one which is shrinking, means that new competitors are less likely to appear.

· The niche market does show encouraging growth in tourists from China – this could prove to be a large and relatively untapped source of customers.

	Level 5
	Good analysis and good application
	8–9 marks

	Level 4
	Good analysis or good application and reasonable application or reasonable analysis
	6–7 marks

	Level 3
	Good analysis or application or reasonable application and reasonable analysis
	5 marks

	Level 2
	Good knowledge plus reasonable application or reasonable analysis
	3-4 marks

	Level 1
	Answer contains relevant knowledge – basic points and/or evidence of understanding of relevant term(s)
	1–2 marks


c Answers may include the following:

· Yes, its prices are high compared to mainstream hotels, and reducing them might help to attract more customers into this particular niche market.

· Yes, its prices are subject to changes in exchange rates as many of its customers are from overseas. Lowering prices would help to offset a rise in the exchange value of the pound.

· No, demand is price inelastic (–0.3) and so a price cut of 10% will only result in 3% increase in sales and revenues may fall. A price rise would be more logical in these circumstances.

· No, the company sells a prestige product and cutting prices (already 5% lower than its closest rivals) may put off some customers. It would not have an integrated marketing mix.

	Level 5
	Good analysis and good application
	9–10 marks

	Level 4
	Good analysis or good application and reasonable application or reasonable analysis
	7–8 marks

	Level 3
	Good analysis or application or reasonable application and reasonable analysis
	5–6 marks

	Level 2
	Good knowledge plus reasonable application or reasonable analysis
	3-4 marks

	Level 1
	Answer contains relevant knowledge – basic points and/or evidence of understanding of relevant term(s)
	1–2 marks


Evaluation: a strong line of evaluation would be to argue that this strategy is illogical for a company selling a luxury product in a niche market. A better approach might be to enhance the quality of the product that is provided.

	E3
	Judgement with well supported justification. Answer has a logical structure throughout, with effective use of technical terms.
	4–5 marks

	E2
	Judgement with limited attempt at justification. Evidence of a logical structure and some use of technical terms. 
	2–3 marks

	E1
	Assertion or judgement which is unsupported. Reasonable evidence of a logical structure and little use of technical terms. 
	1 mark
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